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Displacement Prediction for the pier of South Sea

Research Institute based on Machine learning

2022. 09. 23.

o
Hl
O=II
09
E
o
™
s
o



©
O
w
: - o
%uw w_ Jlﬂ,%%@ﬁemﬂae
: qu mﬂzlmn_%
5 o rlIe) ﬂu&p@ﬁ]ﬂ@ﬂﬁu@
Nr = g - _%L e T® 3
=8 g < | M%lwa%_um%?
7|25 i SR P e
v = = | x 44 i
i 1 %w@%%%mom
: : < L E e N
|5 = T |~ N oo A
: ﬂol‘.,_..m * _W..Nﬂmﬂu._hﬂ]
4| S (A = o o 5 T
;|nd mﬂm ]u_;etﬁen_,ﬂr.mﬂnm_.
ume ,\./a _E q‘l‘ml],Ll‘L:L H_T_
e = . %élﬂxs%ﬂﬂ
,‘lq_ourmb o —~ H_Eﬂq]— LY
ZE EE ITHEEELENES
I T 25 ; @&%Wj%ﬂ%
e G o " ny £ " s % :
~|5 2 AN % R N
S E = A = 4 k3 i
wwwm maﬂ_ﬂw ¥ ﬁ_ﬂugmﬂwmmﬂ g
]ma o ,@vﬂa ‘Ul ]r.wu MuAﬂt.a :
ALpe A J ~ 1_#
a 8 Oou# il o m N o B
T A 2 R B ELry 3!
g I e o e
S| X s = o ,ﬂ%aﬁﬂﬂmﬂ ]
| o o B EE w5 T2 3 ,
s 2| Mo m RO : 4 = _.5
e 1 Tl wd PR G
11 4 Q%ﬂm. ; M op
B : b :
= ~ B N~ N % ¥
: WE | g o oo Nr & T AR
- |® 2 o 2
,wﬂ Kl @ E.:.
N




—

oL
=

-8
—_
0t N
m i '
oo P
T K o i
O = Y
WHET T
oF oF oF oF oF
® w O w6
KT T T S %

o~ o~ o o o W

— N N < 10 © o~

;OL
ald
I

:AU

o0



H 7 = 1 ‘] l L 2 I
]/\E o] Ex O
] 8\2‘ O]/\]—

1. 7HR

,Alvﬂ
o) T ~
I SN
K v_ﬂmm@a_. m_ww.a%
Nr P wﬂ “E . .
= oIt W 2 o
X B 5B
5 o 5y
5 o :_lwr AN
. o_aonuaTH._ mlom__
X iﬁ_oma il l_lﬂ
o W urmfa B = o
* B % A ook
oF o % T ﬂa_mwm
s EL_LE._MMIO% o o
- %__To_ ) op
: o I
I - p N B oy i
o3 AMOCTﬂdLmﬂAmr
O_ ‘I_
Nro X I S B M -
e _o%ﬂy%ﬂaTﬂLE
2o o B X X
o U 1._._/n,A]ﬂWH,A_-mﬂ
@W%wmmo@im%.z_ﬁ
1,¢a]uruwm,%]ﬂx,_ﬂ__%ﬂu
E.n]o N Mﬂw g2
N L o
=T @M]é?ﬂ%
q_o'ﬂ% = B o W
_z__._nﬁl.mﬂauurmqmnﬂ_n%..z__..
%l%z;ﬂﬂﬁ%%%ﬂ
%M:ﬁuﬂﬁ;ﬁA%%ﬂm
o W o U 23 5 :
B :_ldu.mﬂ :Lm_/uﬂ,_q_/l]s
TRy a_:m_uual IOAT
bR o ﬁ_%mﬂ aa%iﬂr.%
HTEQU%%CT@Q__L%:.
i M RE < T do B oy 5 o
A <2 L
ol Lk N ° wo me
m o



<)
[=]}

.1

(Since 2018)

25 &%

+ E™: Top view & Side view

AT ztwa F

3

v



il

<|

KIr
EL

of
El

L
I}

49} 7o) 37 &0] )l

ted 19

S

-

9 #Ze 9

g

N
)

gt

ol
o~

o

ol
w0
Nr

EEE

9
ol &

2 A 5 glo B Aol

CDP-100 ©]™, o] 100mm

S
L.

3zt e

L
) B

BEo W

I Ut AAE

bof molF

S

J)

—~
o)

N
ﬂ_ﬂ._
ol
ml

Mﬂ
ga

o}

22

)

A

1|
[@p]

Nr
__n.ﬁ

N

ol

o

0

T e

(o)

BLOCK B

BLOCK A %]

& oo RAe 44 HEY

BLOCK D

BLOCK C

BLOCK B

D2

BLOCK A

1

D1




A m | Compact s EMSZ Z[Z0| 20/t ARAOICE E20| 2D, HEEHE FHHLEZ | 2w 2
= % |zsosms g4 3USTHE 22, 25 STHSE ABY £ 2l
-UEC, DEY
s 3 |-#omees
- FZ0] 2
MODEL CDP-b CDP-10 | CDP-25 | CDP-50 | CDP-100
== mm) 5 10 25 50 100
B, ZamiY
Tz == -2 -3
==== Bty (10,000 1075) (12,500%10°5) St (10,000: 10°2)
2 = 105 mm) 2,000 1,000 =00 200 100
HIEAA 0.15% RO 0.1% RO
=5 B, 4M {E50gf) 3 4W ({360gf) 4,88 (R00gf)

121073/ c(0 ~ 400 )

HEZTHT 0~ B0
HEHHE 3500

Less than 24

HELIEHDLS 10
HOIE JR-9510(z6mm, 0.3mm?2, 4CORE SHIELD, 10m
HOLDER 1 pc. Supplied 2 pocs, Supplied




CDP

JIG CDPF-11
MODEL/DIM. A |@B| C | @D | dE
CDP-5 99| 205 20 bl 10
CDP-10 991 205 24 51 10
CDP-25 114|205 40 Bl 10
CDP-50 154335 85 B| 10
CDP-100 2rd| 41 118 B 12
MODEL/DIM.|H & CDP| F G H I J K M| N|O
CDPF-11-25 |JCDP-5~25 10| 28] 25| 20| 30f 13 bl 18] 5| P
CDPF-11-50 |CDP-50 10] 35 32| 336 43 13 3 48] 'IB] @
CDPF-11-100 |CDP-100 110 36, 400 41| BO| 175 g 14 18] 5
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Gl A4 S 5 w9 #F A5S HeE fdste V1 3 35 A5 O
4 103 2o AsE 167 992 2AE siden B AFdAE= 2019-09-06
05:04:59 ~ 2019-09-25 01:06:02 7+7+¢] A 5& &8sttt =3, WU & #= o
1E1E st B AFtol= 34 AAE WY #F A 2E F O9 1139 Zo] BF
5 A} B Atolo AXE WS #S A x=He ¥ #F A8Rhs FEHH. AR
% tHH, HeA 1 25, |94 8 §5, 7133S 239y 78 5, =825, A

s, §5, 718 % 2 F5 ARE x3sta o
| Index | #i2 | QA 25 [MYAH &5 | 7|¢ 25 | =EH2E | Hi?*QEIQE |71 | =5 | =2 |
| (mm) | deg | % | deg |deg  |deg  |% [hPa [m/s |deg|

0 095399 30556 89.018 274 26 29 89 1006 6 125
1 096289 30566 89.018 274 26 29 89 1006 5 134
0.95695 30556 89018 274 26 29 89 1006 6 113
6
6

0.96585 30.556 89.018 27.3 25 29 89 1005 124

a W N

0.96289 30.536 89.018 274 25 29 89 1005 125
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® 1. 75 el ¥ 24(Correlation

1] o B o PAEIEY PAEIEY 7148 7148= 7148 71 HE Mgy
we | TR | AW | RS | QEED | mpex | es | wle | S i
=
BE] 1 0.858555 | 0.1939130 | 08150881 | 04672747 | 0.8231826 | -0.267469 | -0.177884 | -0.011671 | -0.009827
A
- 0.858555 1 02145693 | 08770831 | 03432046 | 0.8772941 | -0473791 | -0.178116 | 0.035782 | 0.0940572
2
W2 A
$u 0.1939139 | 0.2145693 1 04780888 | 0.7222367 | 05178419 | 04016121 | -0429824 | -0.101084 | 0.1327484
==
713ES | osisoss1 | 08770831 | 04789888 1 06241801 | 09830196 | -0.261298 | -0.426775 | 0.1667648 | 0.1135995
AHES | 04672747 | 03432046 | 07222367 | 06241801 1 0.6526062 | 05809189 | -0.500604 | -0.027672 | 0.0480925
s
EAEE | 08286 | 08TI2M1 | OSITBA | 08301965 | 06526062 1 0203041 | -0.396375 | 00531663 | 0.11283
o] &%
IEES | 0267469 | 0473791 | 04016121 | -0261298 | 05809189 | -0.203041 1 -0.171671 | -0.225863 | -0.060722
LT | 0177884 | 0178116 | -0.429824 | -0426775 | -0.500694 | -0396375 | -0.171671 1 -0.357588 | -0.065588
7 ’g TS | go11671 | 0035782 | -0.101084 | 01667648 | -0.027672 | 0.0531663 | -0.225863 | -0.357588 1 -0.014706
ZVERS | 0000827 | 00940572 | 01327484 | 01135995 | 00480925 | 011283 | -0.060722 | -0.065588 | -0.014706 1
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5o WHeE dZstr] AsiA A dS5E A8tk 319 ool Linear
Regression, Lasso Regression, Ridge Regression, Random Forest, Gradient Boosting 2
ANN(Artificial Neural Network) Regression 222 &3 th 34 o= =d HgS
HelA B5 A5E Hold ZE2 AAdstglon, 17 14-159 o] StFHolE 9 &
d H2E HolHE 73 HE&E & Atk 19 16-302 7 Regression E@ 9| &%

data_path = 'data_Sth_d0_weather.csy'
data = pd.read_csvidata_path)
data.head(5)

0.95092 30.556 89.018 27.4 26 29 89 1006 5 132
0 095399 30556 89018 274 26 29 89 1006 6 125
1 096289 30566 89018 274 26 20 89 1006 5 134
£ 095695 30556 89018 274 26 29 B9 1006 6 113
3 096585 30556 89018 273 25 29 B89 1005 6 134
4 096289 30536 89018 274 25 29 89 1005 6 125
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np_data = np.arrayidata)
print(np_datal0:5,:])

[[9.5399e-01 3.0556e+01 B.8018=+01 2.7400e+01 2.6000e+01 2. 8000e+01
8.9000e+01 1.0060=+03 6.0000e+00 1. 2500e+02]

[9.6280%e-01 3.056Ge+01 8.9018=+01 2.7400e+01 Z2.6000e+01 2,9000e+01
8.0000e+01 1.0060e+03 5.0000e+00 1.3400e+02]

[9.5695e-01 3.055Ge+01 8.9018e+01 2.7400e+01 Z2.6000e+01 2.9000e+01
8.9000e+01 1.0060e+03 G.0000e+00 1.1300e+02]

[9.6585e-01 3.055Ge+01 8.9018e+01 2.7300e+01 2.5000e+01 2.9000e+01
B.9000e+01 1.0050e+03 6.0000e+00 1.3400e+02]

[9.528%e-01 3.053Ge+01 8.9018e+01 2. 7400e+01 2.5000e+01 2.9000e+01
8.9000e+01 1.0050e+03 6. 0000e+00 1. 2500e+02] ]

datax = np_datal:,1:10]
datay = np_datal:,0]
print{datax[0:5,:])
print (datay[0:10])

[[ 30.556 83.018 27.4 b, 23 B9, 1006, E.
[ IES:EEE] B9.018 274 6. 23 89. 1006, i,
[ 133:5551 89.018  Z7.4 6. =l 89. 1006, E.
[ ]éS:EEE] 89018, 273 5. 29. 89. 1005, E.
[ 133:5351 B9.018  Z27.4 T 29. B9. 1005, E.

125 i

(0.95399 0.96289 0.95695 0.95585 0.96289 0.95280 0.96289 0.96882 0.96882
0.96585]

from sklearn.model _selection import train_test_split
trnx, tst¥, trny, tsty = train_test_split(datax, datay, test_size=0.3)
printitrny. shape, tstw, shape, troy.shape, tsty.shape)

(18755, 9) (8038, 9) (18755,) (B034,)

% 15 S5 dHlolE ¥ 2d AF Holy &8 A=
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from sklearn. linear_nodel import LinearRegression
model = LinearRegression()

model . fit(X=trnx, w=trnw)

Ir_pred = nodel  predict (K=tstx)

from sklearn import metrics
print{'AMSE', np.sart(metrics. nean_squared_error(lr_pred, tstyl))
print('R2', metrics.rZ_score(tsty, lr_pred))

FMSE D.B649935666353837
Rz 0.8137161 726500831

mode|
LinearRegression{copy_f=True, fit_intercept=True, n_jobs=Hone, normalize=False)

1% 16. Linear Regression 3t & 9 Az}

plt.plot(tsty[1:100])

plt plot{lr_pred[1:100])

plt, legend( ['test data’, 'prediction result'], loc="upper right')
plt.titlel'Linear Fegression')

plt.ylabel [ 'Displacenent ' )

plt.xlabel (' Sanple num')

plt. show()
Linear Regression
2 — test data
- prediction result
14 ,.1 |
& |
E
g =1
(=]
=
LN}
a -2
_3 g
-4
T T T T T
0 20 40 B0 80 100

Sample num

13 17. Linear Regression =2 H|AE A}
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from sklearn. linear_nodel import Lasso

model _
model _
lr_pre
print(
print(

AMSE:
HZ 0.7
mode| _

Lassof

lasso = Lassol )
lasso. fit(X=trnx, y=trny)
d_lasso = model _lasso. predict (X=tstx)

"BMSE: ', np.sart(metrics.mean_sauared_errori|r_pred_lasso, tsty)))

‘B2', metrics.rZ_score(tsty, |r_pred_lassol)

0. 7940180894516775
4297531 34200643

lasso

alpha=1.0, copy_%=True, fit_intercept=True, max_iter=1000,
normal ize=False, positive=False, precompute=False, random_state=None,

selection="cyclic', tol=0.0001, warm_start=Fals=e)

1% 18. Lasso Regression &h5 & 2 Ax

plt.plot{tsty[1:100])
plt . plotilr_pred_lassoll1:100])

plt. legend{['test data', 'prediction result'], loc="upper right')

plt.titlel'Lasso Pegression')
plt.vlabel (' Displacenent ')
plt.xlabel (' Sanple num')
plt.show()

displacement

Lasso Regression

| — test data
L | prediction result

MY
LR

= L
—

'V

0 20 40 =] 80 100
Sample num

19 19. Lasso Regression 24 HAE A}
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from sklearn. linear_model import Ridge

mode! _ridge = Ridgel)

model _ridae. fitl{X=trnx, y=trny)

Ir_pred_ridae = model _ridae. predict(i=tstx)

print{"AMSE: ', np.sart{metrics.mean_squared_error(lr_pred_ridae, tsty)))
print{'A2', metrics.ré_score(tsty, |r_pred_ridge))

AMSE: 0.664939140868317
Rz 0.81371640350404:34

model _ridge

Ridgelalpha=1.0, copy_X=True, fit_intercept=True, max_iter=None,
normal i ze=False, random_state=Hone, solver="auto', tol=0.001)

13 20. Ridge Regression sty == 9 ZAy}

plt.plot(tsty[1:100])

plt.plotlr_pred_rideel1:100])

plt. legend( ['test data', 'prediction result'], loc="upper right')
plt.title( Ridoe Rearession')

plt.ylabel{'Displacement ')

plt.xlabel (' Sample num' )

plt . showi )

Ricdge Regression

| —— test data
prediction result

0

| '» "_! -|| i“ '- | ||
| i
Al

—

Displacement
P

I;

T T T T
H 20 40 B0 8o 100
Sample num

19 21. Ridge Regression =4 HAE ZA3}
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from sklearn.preprocessing import MinMaxScaler

scaler = MinMaxScaler()

scaler. fit{trnx)

trnx_scale = scaler.transfornitrnx)

tstx_scale = scaler.transformitstx)

# printine minl trov_scatel , 01), no max{trox_scalsf , 07))
#oprintine min{tet sealef , OF), np maxitetx_sealsf OF))

from sklearn.ensemble import RandomForestRearessor
rf_nodel = RandomForestRegressor(max_depth=15, n_estimators=100, randon_state=0)
rf_model . fit{¥=trnx, ¥=trny)

rf_pred = rf_model .predict (X=tstx)

from sklearn import metrics
print( AMSE", np.sartimetrics. mean_squared_errorirf_pred, tsty)))
printi'H2', metrics. rZ_scorel(tsty, rf_pred))

RMSE 0.03383381 256799827
Az 0.9995333235097635

rf_model

RandomForest Rearessor (oot st rap=True, ccp_alpha=0.0, criterion="mnse',
nax_depth=15, max_features='auto', max_leaf_nodes=Hone,
nax_sanples=None, min_impurity_decrease=0.0,
min_impurity_split=None, nin_sanples_leaf=1
min_sanples_split=£, min_weight_fraction_leaf=0.0,
n_estimators=100, n_jobs=None, oob_score=False,
random_state=0, verbose=0, warm_start=False)

1% 22. Random Forest Regression &< ZE= 9 A3}

plt.plot(tstyll:100])

plt.plot(rf_pred[1:100])

plt. legend( ['test data', ‘prediction result'], loc="upper right')
plt. titlel "Ensenble_Random _Forest Fearession')
plt.vlabel('Displacenent ')

plt.xlabel (' Sanple num')

plt.showl]
Ensemble_Random_Forest_Regression
2
" — test data
I T s ] prediction result
14 MUANU 4L | i v Manl
] il' i
o LVt Mt
5 | ’ ! \ h !
E -1 1 ' ‘ \
B | |
a
g2
-3 4
—4 4
0 0 40 8 & 100

Sample num

1% 23. Random Forest Regression =& H~E ZA3}
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from sklearn.ensenble import GradientBoostingRearessor
abm_nodel = GradientBoost ingRegressor (nax_depth=15, n_estimators=30, random_state=0)
abm_model , fit{¥=trnx, w=trny)

abm_pred = abn_model . predict(X=tsty)

from sklearn import metrics
print(AMSE'. np.sartimetrics.mean_souared_errorigbn_pred, tsty)))
print('A2', metrics.rZ_score(tsty, gbn_pred))

RMSE 0. 07330425049205963
Rz 0.8978093532073847

abm_node|

GradientBoost ingRegressor(alpha=0.9, ccp_alpha=0.0, criterion="friednan_mnse’,
init=Mone, learning_rate=0.1, loss="ls', max_depth=15,
nax_features=hone, max_leaf_nodes=Mone,
min_impurity_decrease=0.0, min_impurity_split=hone,
min_sanples_leaf=1, min_sanples_split=2,
min_weight _fraction_leaf=0.0, n_estimators=30,
n_iter_no_change=Mone, presort="deprecated’,
random_state=0, subsanple=1.0, tol=0.0001,
validation_fraction=0.1, verbose=0, warn_start=False)

19 24. Gradient Boosting Regression 3ty = 9 A3}

plt.plat(tsty[1:100])
plt.plot (abm_pred[1:100])
plt, legend ['test data'., 'prediction result']l, loc='upper right')
plt . title( Gradient Boosting')
plt.vlabel{ ' Displacenent ')
plt . xlabel { Sanple nun' )
plt.showl)
Gradient Boosting
2.
; | - test data
B predictiocn result
1 N R
|}.
[
22 g [ELE ol
| 1 N |
=3 | | | y |I | .I'
t'. i | i !
e J 5 '
0 20 0 &0 50 100
Sample num

13 25. Gradient Boosting Regression =4 ©|~E Ax}
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mlp_nodel = models. Sequential ()
mlp_model . add lavers. Dense( 10, input_dim=9, kernel_initializer='nornal’', activation='relu'))

nlp_nodel  addl avers, Dense(30, activation="relu'))
mlp_mode! . addl |avers, Densel 100, activation="relu'])
nlp_nocel , addl lavers, Dense(30, activation="relu'))
mlp_nodel . addi lavers, Dense(10, activation='relu')]
mlp_mode! . addl |avers.Densel i, activation='linear'))
mlp_nodel . sunmary( )

Model: "seguential”

Laver (tvpe) Output Shape Param #
dense [ Dense) (Mone, 10) 100
dense_1 [Dense] (Mone, 30 330
dense_2 (Dense] (Mone, 100) 3100
dense_3 [Dense) (Mone, 307 3030
dense_d4 (Dense) (Mone, 107 310
dense 5 (Dense] (Mone, 1) 11

Total params: 6,881
Trainable params: 6,881
Mon-trainable parans: 0O

719 26. ANN(Artificial Neural Network) Regression A4 =&

nlp_nodel  compi lel loss="nse’, optinizer='adan’', metrics=['nze’, 'nae'])
history = mlponodel  fit(trox, troy, epochs=100, batch_size=E0, verbose=1, validation_selit=0.2)

Train on 15004 sanples, validate on 3751 sanples

Epoch 1/100

15004/15004 [ ] - 15 Baus/=ample - loss: 1.6453 - mse: 1.6453 — mae: 1.0007 - val_loss: 0.7852 - val_nse
0.7852 — val_mae: 0 6563

Epoch 2/100

16004/ 15004 [ ] - Os PFusf=anple - loss: 0.6594 - nse: 06584 — mae: 0.6400 - val _loss: 0.5347 - val_nse
0,5347 — val _mae: 05821

Epoch 3/100

15004/15004 [ ] - Os 2fus/sanple - loss: 0,4987 - mse: 0.4987 - nae: 0.5396 - val _loss: 0.4283 - val _nse
0.4283 - val_mae: 0. 4829

Epach 47100

15004/15004 [ ] - Os 23us/sanple - losst 0.3988 - nse! 0.3988 - nae: 0.4709 - val_loss: 0.4565 - val _nse
0.4565 - val_mae: 0 5255

Epach 54100

15004/15004 [ ] - Oz 24us/sanple - losst 0.3369 - mse: 0,3369 - mae: 0.4320 - val _loss: 0.2760 - val _nse
0.2760 — val _mae: 0.3920

Epach 6/100

16004/15004 [ ] - Os 2Bus/sanple - losst 0.3035 - nse: 0.3055 - mae: 0.4118 - val_loss: 0.3615 - val _nse
0.3615 - val _nae: 04374

I B

9 27. ANN(Artificial Neural Network) Regression =42 &< 74

_17_



model loss 10

= frain

st 051 §

_“-_“h_’ | ; \ 10 ]
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from sklearn import metrics

model mse
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print('AMSE', np.sart(metrics.nean_sauared_error(mlp_nodel, tsty)))
print('A2', metrics.r2_score(tsty, nlp_model))

AMSE 0. 25829274891 393317
Hz 0.972801305807386
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mlp_model = nlp_model . predict (tstw)

plt.plot{tsty[1:100])

plt.plot(nlp_model [1:100] )

plt. legend(['test’, 'prediction result'], loc='lower left')
plt.title MY Pegression')

plt.ylakel('Displacenent ')

plt.xlabel (" Sanple num')

bt show()
MM Regression
2 ]
1 -
T
i

I} | b
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=
[iF]
Bt ] |
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ol | |

_3 e
— st
—4 4 — prediction result
1 1 T I 1 T
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®. 2¢ FF dS dF R A5S RAF Utk A% HUHE AT #e=
RMSE$} R2 gk Al4HeI o A5 Hlar 23 Random Forest Regressmn 2do] test
dataset& 7} Z o=3t= oS RIoW, 20 =F Gradient Boosting Regression
w7 g o) W/\}GP oS BRAY. 1o Hste] RMSE 4te] 73-$- Linear Regression 29|
HAA AL BYS Festgon, R2 gt A$ Lasso Regression mElo] HA A%
= BYS Flstdh

Linear 0.6649 0.8197

Lasso 0.7940 0.7429
Ridge 0.6649 0.8197

Gradient Boosting  0.0733 0.9978
Random Forest ~ 0.03383 0.9995
ANN 0.2582 0.9728
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